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1. I'm afraid that you will need government to enter this building

because it is strictly off limits to civilian personnel at this time.
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(A) authorship
(B) allowance
(C) authorization

(D) compliance
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2. Mr. Johnson rose to the of head teacher within just a few
months of arriving at the elementary school.

(A) rate

(B) level

(C) statue

(D) chance

B
FE) Ak of 8] FAGUL levele] Aol S

of <] 5% olehz A% sol= FAYI
B) Johnson M= ES3tmol 2 x| £3} % ol Fele| HZolnix 23tch

rate H|S. statue S4f, TA
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3. Although the managers do not want to let go of the perfume division, the
general is that the company will lose money if it doesn't.

(A) accumulation

(B) alliance

(C) consensus

(D) supplement

C
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4. This company has only a interest in trade with Eastern Europe
due to recent economic troubles in that region.

(A) marginal

(B) partially

(C) major

(D) imperative
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5. The capitalist system thrives on the drive of big industry and

the constant development of new products.
(A) competitive
(B) eligible
(C) informative

(D) winning

A
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6. If the downturn in the economy is reversed by mid-year, we should see an

in the market in the second half.
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(A) improvement
(B) appointment
(C) permission
(D) raise
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7. A light breakfast will be served for all the participants at the
conference to show the companies appreciation for their contribution to the
meeting.

(A) eventual

(B) elegant

(C) complimentary

(D) temporary

C
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8. As a of membership, you are eligible to buy items at half the
price at any of listed shops.

(A) petition

(B) benefit

(C) variety

(D) post
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9. The administration has promised health-care programs that are easily
to all people.

(A) affordable

(B) respectful

(C) formal

(D) believed

A
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10. The success of the marketing strategy is on a number of

factors mentioned in the feasibility study.
(A) hopeful
(B) related
(C) speculative
(D) contingent

D
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11. The maintenance crew keeps factory equipment in excellent by
inspecting the machines once a month.

(A) circulation

(B) condition

(C) procedure

(D) movement
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12. This laboratory will undertake research to try to discover the
underlying causes for the radiation leak from our core reactor last week.

(A) interested

(B) extensive

(C) superficial

(D) considerate
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13. Installation of any of the company’s development software implies
with the conditions stated under the Terms of Agreement.

(A) placement

(B) development

(C) agreement
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(D) commitment

C
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14. Smoking is strictly in all of the areas of this building, and
anyone that is caught will be fined accordingly.

(A) allowed

(B) prohibited

(C) limited

(D) discredited

B
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15. All relief agencies will be given the of funds to deal with
the widespread damage caused by the recent flooding in a number of parts
of the country.

(A) utilization

(B) information

(C) flexibility

(D) allotment

EE D
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